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 TrigonometryExercise4 Answers for No.10052
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 TrigonometryExercise4 Answers for No.10064
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5







Tan


15















Tan


3

3

.3








( )Sin 65 ( )Cos 20 ( )Cos 65 ( )Sin 20









( )Sin 45

2

2
.4






( )Sin 18 ( )Cos 12 ( )Cos 18 ( )Sin 12







( )Sin 30

1

2

.5




















Cos



12

2








Sin



12

2 

















Cos



6

3

2
.6








2









Sin



8









Cos



8



















Sin



4

2

2

.7













2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3

3
.8








1 2 ( )Sin 15

2 







( )Cos 30

3

2

.9














Cos


9







Cos

7 
18







Sin


9







Sin

7 
18















Cos


2

0 .10








( )Cos 40 ( )Cos 10 ( )Sin 40 ( )Sin 10









( )Cos 30

3

2
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.1








( )Cos 

39

8
.2








( )Sin  

5

3

.3








( )Tan  

5

2
.4








( )Sin   

5

12

39 5

24

.5








( )Cos   

39

12

5 5

24
.6








( )Tan    

128 5

31

45 39

31

.7








( )Sin 2 

5 39

32
.8 ( )( )Tan 2  4 5
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.1








( )Cos  

11

6
.2








( )Sin 

2 6

7

.3








( )Tan  

2 6

5
.4








( )Sin    

11 6

21

25

42

.5








( )Cos   

5 11

42

5 6

21
.6








( )Tan    

49 11

65

72 6

65

.7








( )Sin 2  

20 6

49
.8








( )Tan 2  

5 11

7
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 TrigonometryExercise4 Answers for No.10076
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.1
















Sin


12


2 3

4

2

4
.2








( )Cos 75 

2 3

4

2

4

.3 ( )( )Tan 105  2 3 .4














Tan 

5 
12

 2 3

.5 ( )( )Cot ( )-285  2 3 .6
















Cos

11 
12

 
2

4

2 3

4

.7 ( )( )Csc 345  2 3 2 .8 ( )( )Sec ( )-105   2 3 2
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.1 ( )( )Cos 75 ( )Cos 15 ( )Sin 75 ( )Sin 15 ( )( )Cos 90 0 .2










( )Tan 10 ( )Tan 50

1 ( )Tan 10 ( )Tan 50
( )( )Tan 60 3

.3








2 ( )Cos 15

2
1









( )Cos 30

3

2
.4














Sin

2 
9







Cos


18







Cos

2 
9







Sin


18















Sin


6

1

2

.5










1 2







Sin


8

2 















Cos


4

2

2
.6






2







Sin


12







Cos


12















Sin


6

1

2

.7
















Sin


12







Cos


6







Cos


12







Sin


6

















Sin


4

2

2
.8








( )Cos 22.5

2
( )Sin 22.5

2 







( )Cos 45

2

2

.9






























Tan

17 
36







Tan

5 
36

1






Tan

17 
36







Tan

5 
36



















Tan



3
3 .10
























2







Tan


8

1






Tan


8

2



















Tan



4









Tan



4
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.1








( )Sin 

2 6

5
.2








( )Cos  

15

4

.3








( )Tan  

15

15
.4








( )Sin    

6 15

10

1

20

.5








( )Cos    

15

20

6

10
.6








( )Tan   

25 5 3

9

32 2 3

9

.7








( )Sin 2  

15

8
.8








( )Tan 2  

4 6

23
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.1








( )Sin  

55

8
.2








( )Cos 

7

4

.3








( )Tan 

55

3
.4








( )Sin    

55 7

32

9

32

.5








( )Cos    

3 7

32

3 55

32
.6








( )Tan    

55

9

4 7

9

.7






( )Cos 2 

-23

32
.8 ( )( )Tan 2  3 7
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 TrigonometryExercise4 Answers for No.10077
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.1








( )Cos 105 

2

4

2 3

4
.2


















Sin

5 

12


2

4

2 3

4

.3














Tan


12

2 3 .4 ( )( )Tan ( )-15   2 3

.5


















Sec 

7 

12
 2 3 2 .6 ( )( )Cot ( )-195   2 3

.7


















Cos 

23 

12


2

4

2 3

4
.8








( )Sin 195 

2

4

2 3

4
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.1








1 2 ( )Sin 22.5

2 







( )Cos 45

2

2
.2


















Cos

7 

36









Cos

5 

36









Sin

7 

36









Sin

5 

36



















Cos



3

1

2

.3








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3

2
.4






























Tan

11 
36







Tan


18

1








Tan

11 

36









Tan



18















Tan


4

1

.5














Sin

2 
9







Cos


18







Cos

2 
9







Sin


18















Sin


6

1

2
.6










( )Tan 25 ( )Tan 20

1 ( )Tan 25 ( )Tan 20
( )( )Tan 45 1

.7






( )Sin 20 ( )Cos 10 ( )Cos 20 ( )Sin 10







( )Sin 30

1

2
.8
























2







Tan


12

1






Tan


12

2















Tan


6







Tan


6

.9








2







Sin


8







Cos


8

















Sin


4

2

2
.10








2







Cos


12

2

1
















Cos


6

3

2
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.1








( )Sin 

2 6

5
.2








( )Cos  

65

9

.3 ( )( )Tan  2 6 .4








( )Sin    

2 6 65

45

4

45

.5








( )Cos    

65

45

8 6

45
.6








( )Tan    

100 65

319

162 6

319

.7






( )Cos 2 

49

81
.8








( )Tan 2  

4 6

23
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 TrigonometryExercise4 Answers for No.10083
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 TrigonometryExercise4 Answers for No.10109
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 TrigonometryExercise4 Answers for No.10180

, ,  Ans1

































.1








( )Cos 15 

2

4

2 3

4
.2
















Sin

7 
12


2

4

2 3

4

.3 ( )( )Tan 75 2 3 .4














Csc 

19 
12

2 3 2

.5 ( )( )Sec 165  2 3 2 .6 ( )( )Tan ( )-75   2 3

.7














Cot 


12

 2 3 .8
















Cos

13 
12

 
2

4

2 3

4

   

















































:)

:(
M
a
t
h
@
M
U
T
:)

:(

, ,  Ans2























































.1
















Sin

5 
36







Cos


9







Cos

5 
36







Sin


9

















Sin


4

2

2
.2








1 2







Sin


8

2 















Cos


4

2

2

.3


















Cos


12

2






Sin


12

2 















Cos


6

3

2
.4








2 ( )Cos 15

2
1









( )Cos 30

3

2

.5
























2







Tan


12

1






Tan


12

2



















Tan



6









Tan



6
.6








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2

2

.7










( )Tan 60 ( )Tan 15

1 ( )Tan 60 ( )Tan 15
( )( )Tan 45 1 .8











( )Tan 40 ( )Tan 20

1 ( )Tan 40 ( )Tan 20
( )( )Tan 60 3

.9
















Cos

5 
18







Cos


9







Sin

5 
18







Sin


9

















Cos


6

3

2
.10














Sin

17 
30







Cos


15







Cos

17 
30







Sin


15















Sin


2

1
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.1








( )Cos 

11

6
.2








( )Sin  

3 5

7

.3








( )Tan 

3 5

2
.4








( )Sin    

11 5

14

5

21

.5








( )Cos    

11

21

5 5

14
.6








( )Tan    

245 11

1081

216 5

1081

.7








( )Sin 2 

12 5

49
.8








( )Tan 2  

5 11

7
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.1








( )Sin 

2 10

7
.2








( )Cos 

5

3

.3








( )Tan  

2 5

5
.4








( )Sin   

2 5 10

21

2

7

.5








( )Cos    

5

7

4 10

21
.6








( )Tan   

98 5

115

54 2 5

115

.7






( )Cos 2 

-31

49
.8 ( )( )Tan 2  4 5
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 TrigonometryExercise4 Answers for No.10181
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.1


















Sin

7 

12


2

4

2 3

4
.2








( )Cos 15 

2

4

2 3

4

.3














Tan

5 
12

2 3 .4 ( )( )Csc 255  2 3 2

.5














Cot

23 
12

 2 3 .6
















Cos 

5 
12


2 3

4

2

4

.7



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


( )Sin 285  

2

4

2 3

4
.8 ( )( )Tan 195 2 3
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.1








1 2 ( )Sin 22.5

2 







( )Cos 45

2

2
.2








( )Sin 25 ( )Cos 20 ( )Cos 25 ( )Sin 20









( )Sin 45

2

2

.3


















Sin

2 

9









Cos



18









Cos

2 

9









Sin



18



















Sin



6

1

2
.4




















Cos



12

2








Sin



12

2 

















Cos



6

3

2

.5










( )Tan 55 ( )Tan 10

1 ( )Tan 55 ( )Tan 10
( )( )Tan 45 1 .6









2 ( )Cos 15

2
1









( )Cos 30

3

2

.7








2







Sin


8







Cos


8

















Sin


4

2

2
.8














Cos


18







Cos

5 
18







Sin


18







Sin

5 
18















Cos


3

1

2

.9














Cos

2 
5







Cos


15







Sin

2 
5







Sin


15















Cos


3

1

2
.10
























2







Tan


8

1






Tan


8

2















Tan


4




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.1








( )Cos 

3

2
.2








( )Sin 

2 6

5

.3 ( )( )Tan  2 6 .4








( )Sin    

1

10

3 6

5

.5








( )Cos    

3

10

6

5
.6








( )Tan    

25 3

21

8 2 3

21

.7








( )Sin 2  

4 6

25
.8 ( )( )Tan 2  3
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.1








( )Sin  

2 14

9
.2








( )Cos  

11

6

.3








( )Tan 

5 11

11
.4








( )Sin    

25

54

14 11

27

.5








( )Cos    

5 11

54

5 14

27
.6








( )Tan   

8 14

25

9 11

25

.7








( )Sin 2  

20 14

81
.8








( )Tan 2  

5 11
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 TrigonometryExercise4 Answers for No.10191
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















Cos

5 
12


2 3

4

2

4
.2








( )Sin 15 

2 3

4

2

4

.3 ( )( )Tan 105  2 3 .4








( )Cos 165  

2

4

2 3

4
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
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



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Sin
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12
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2
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2 3

4
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
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.7 ( )( )Sec ( )-255   2 3 2 .8 ( )( )Cot 255 2 3
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
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



2







Cos


12

2

1
















Cos


6

3

2
.2


















Cos


8

2






Sin


8

2 















Cos


4

2

2

.3







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
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


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
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







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
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7 
18
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
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

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
18

1






Tan

7 
18







Tan


18















Tan


3

3 .4








( )Sin 15 ( )Cos 30 ( )Cos 15 ( )Sin 30









( )Sin 45

2

2

.5








1 2 ( )Sin 22.5

2 







( )Cos 45

2

2
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





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

Cos


9



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

Cos

2 
9



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

Sin


9







Sin

2 
9















Cos


3

1

2

.7 ( )( )Sin 102 ( )Cos 12 ( )Cos 102 ( )Sin 12 ( )( )Sin 90 1 .8
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
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
2









Tan



8
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

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

Tan


8

2
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


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
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
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
4
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
4
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
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
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
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9
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
18

1


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

Tan
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9
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
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
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
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



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
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3
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.1








( )Cos 

15

4
.2








( )Sin  

3

2

.3








( )Tan 

15

15
.4








( )Sin   

1

8

15 3

8

.5








( )Cos   

15

8

3

8
.6








( )Tan   

5 3

3

4 3

3

.7






( )Cos 2 

-1

2
.8



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


( )Tan 2 

15

7
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 TrigonometryExercise4 Answers for No.10281
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 TrigonometryExercise4 Answers for No.10437
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 TrigonometryExercise4 Answers for No.10493
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




Tan


6







Tan


6

.2








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3

2

.3








2 ( )Cos 22.5

2
1









( )Cos 45

2

2
.4








2









Sin



12









Cos



12



















Sin



6

1

2

.5






























Tan

7 
36







Tan


18

1








Tan

7 

36









Tan



18















Tan


4

1 .6














Sin

5 
36







Cos


36







Cos

5 
36







Sin


36















Sin


6

1

2

.7






( )Cos 35 ( )Cos 25 ( )Sin 35 ( )Sin 25







( )Cos 60

1

2
.8






























Tan

2 
5







Tan


15

1








Tan

2 

5









Tan



15















Tan


3

3

.9










1 2







Sin


8

2 















Cos


4

2

2
.10






( )Sin 42 ( )Cos 12 ( )Cos 42 ( )Sin 12







( )Sin 30

1

2
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.1








( )Cos 

5

3
.2








( )Sin  

3

2

.3 ( )( )Tan   3 .4








( )Sin   

1

3

5 3

6

.5








( )Cos   

5

6

3

3
.6








( )Tan    

8 5

7

9 3

7

.7








( )Sin 2 

4 5

9
.8 ( )( )Tan 2  3
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.1








( )Sin 

3

2
.2








( )Cos  

55

8

.3 ( )( )Tan   3 .4








( )Sin   

3

16

3 55

16

.5








( )Cos   

55

16

3 3

16
.6








( )Tan    

16 3

7

3 55

7

.7






( )Cos 2 

-1

2
.8








( )Tan 2 

3 55

23
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 TrigonometryExercise4 Answers for No.10596
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.1


















Sin



12


2 3

4

2

4
.2








( )Cos 105 

2

4

2 3

4

.3














Tan

5 
12

2 3 .4








( )Sin ( )-165  

2

4

2 3

4

.5














Cot 

5 
12

 2 3 .6














Sec

19 
12

2 3 2

.7 ( )( )Tan 165  2 3 .8








( )Cos ( )-105  

2

4

2 3
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.1
































Tan

11 

36









Tan



18

1






Tan

11 
36







Tan


18















Tan


4

1 .2 ( )( )Cos 102 ( )Cos 12 ( )Sin 102 ( )Sin 12 ( )( )Cos 90 0

.3








2 ( )Cos 15

2
1









( )Cos 30

3

2
.4








1 2 ( )Sin 22.5

2 







( )Cos 45

2

2

.5















2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3

3
.6




















Cos



12

2








Sin



12

2 

















Cos



6

3

2

.7 ( )( )Cos 78 ( )Cos 12 ( )Sin 78 ( )Sin 12 ( )( )Cos 90 0 .8








2









Sin



8









Cos



8



















Sin



4

2

2

.9








( )Sin 80 ( )Cos 20 ( )Cos 80 ( )Sin 20









( )Sin 60

3

2
.10














Sin


18







Cos


9







Cos


18







Sin


9















Sin


6

1

2
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


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






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
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.1








( )Sin 

35

6
.2








( )Cos  

2 2

3

.3








( )Tan  

2

4
.4








( )Sin   

1

18

35 2

9

.5








( )Cos    

2

9

35

18
.6








( )Tan    

35

3

8 2

3

.7








( )Sin 2  

4 2

9
.8








( )Tan 2  

35

17
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.1








( )Cos  

15

4
.2








( )Sin  

33

7

.3








( )Tan 

15

15
.4








( )Sin    

1

7

15 33

28

.5








( )Cos    

15

7

33

28
.6








( )Tan    

64 3 11

207

49 5 3

207

.7








( )Sin 2  

8 33

49
.8








( )Tan 2 

15

7
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, ,  Ans5 ( )( )Cos 9 ( )( )Sqrt 0.9755 0.988    
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 TrigonometryExercise4 Answers for No.10599
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















.1








( )Cos 105 

2

4

2 3

4
.2
















Sin

5 
12


2

4

2 3

4

.3 ( )( )Tan 15 2 3 .4 ( )( )Cot 255 2 3

.5


















Tan

19 

12
 2 3 .6









( )Sin ( )-195  

2 3

4

2

4

.7


















Cos 

17 

12


2

4

2 3

4
.8


















Csc

23 

12
 2 3 2
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


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
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











































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




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
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.1








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3

2
.2















2 ( )Tan 22.5

1 ( )Tan 22.5
2

( )( )Tan 45 1

.3














Cos


9







Cos

7 
18







Sin


9







Sin

7 
18















Cos


2

0 .4








2







Sin


8







Cos


8

















Sin


4

2

2

.5






























Tan

5 
36







Tan

7 
36

1






Tan

5 
36







Tan

7 
36



















Tan



3
3 .6









( )Sin 25 ( )Cos 5 ( )Cos 25 ( )Sin 5









( )Sin 30

1

2

.7






























Tan

2 
5







Tan


15

1






Tan

2 
5







Tan


15



















Tan



3
3 .8









( )Sin 50 ( )Cos 20 ( )Cos 50 ( )Sin 20









( )Sin 30

1

2

.9








2 ( )Cos 22.5

2
1









( )Cos 45

2

2
.10










1 2









Sin



12

2 

















Cos



6

3

2
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
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
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.1








( )Cos 

11

6
.2








( )Sin 

65

9

.3








( )Tan 

5 11

11
.4








( )Sin    

10

27

11 65

54

.5








( )Cos    

2 11

27

5 65

54
.6








( )Tan   

16 65

161

45 11

161

.7






( )Cos 2 

-7

18
.8








( )Tan 2 

8 65

49
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.1






( )Cos 

-4

5
.2








( )Sin  

3

2

.3






( )Tan 

3

4
.4








( )Sin    

3

10

2 3

5

.5








( )Cos    

2

5

3 3

10
.6








( )Tan   

25 3

11

48

11

.7






( )Cos 2 

-1

2
.8






( )Tan 2 

24

7
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, ,  Ans5 ( )( )Cos 29 ( )( )Sqrt 0.7650 0.875    
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, ,  Ans6 ( )( )Sin 43 ( )( )Sqrt 0.4650 0.682    
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 TrigonometryExercise4 Answers for No.11068

, ,  Ans1




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






















.1








( )Sin 15 

2 3

4

2

4
.2
















Cos

5 
12


2 3

4

2

4

.3 ( )( )Tan 105  2 3 .4
















Sin 

11 
12


2

4

2 3

4

.5 ( )( )Sec 285 2 3 2 .6 ( )( )Tan ( )-15   2 3

.7


















Cos

13 

12
 

2

4

2 3

4
.8


















Csc 

5 

12
 2 3 2
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























































.1








2 ( )Cos 15

2
1









( )Cos 30

3

2
.2








( )Cos 10 ( )Cos 20 ( )Sin 10 ( )Sin 20









( )Cos 30

3

2

.3










( )Tan 33 ( )Tan 12

1 ( )Tan 33 ( )Tan 12
( )( )Tan 45 1 .4














2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3

3

.5








( )Cos 60 ( )Cos 15 ( )Sin 60 ( )Sin 15









( )Cos 45

2

2
.6








1 2







Sin


12

2 















Cos


6

3

2

.7














Sin

17 
30







Cos


15







Cos

17 
30







Sin


15















Sin


2

1 .8


















Cos


8

2






Sin


8

2 















Cos


4

2

2

.9






























Tan

7 
30







Tan


15

1






Tan

7 
30







Tan


15



















Tan



6

3

3
.10








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2

2
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
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.1








( )Cos 

3

2
.2








( )Sin  

21

5

.3








( )Tan  

21

2
.4








( )Sin    

21 3

10

1

5

.5








( )Cos   

3

5

21

10
.6








( )Tan    

25 3

9

8 7 3

9

.7








( )Sin 2 

3

2
.8








( )Tan 2 

4 21

17
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
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.1








( )Cos  

3

2
.2








( )Sin  

2 14

9

.3








( )Tan 

2 14

5
.4








( )Sin    

3 14

9

5

18

.5








( )Cos   

5 3

18

14

9
.6








( )Tan   

81 3

19

40 14

19

.7






( )Cos 2 

1

2
.8








( )Tan 2  

20 14

31
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, ,  Ans5 ( )( )Sin 5 ( )( )Sqrt 0.0075 0.087    
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M
U
T

, ,  Ans6 ( )( )Cos 16 ( )( )Sqrt 0.9240 0.961    
















M
U
T

X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:
:
:
:
:
:
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800304-00016XX
 TrigonometryExercise4 Answers for No.11423
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.1








( )Cos 75 

2 3

4

2

4
.2






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.3






















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
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







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
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
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
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
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2 2

3
.2








( )Cos 

2 14

9

.3








( )Tan  

5 14
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.7






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.8








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 TrigonometryExercise4 Answers for No.11440
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.3 ( )( )Sin 105 ( )Cos 15 ( )Cos 105 ( )Sin 15 ( )( )Sin 90 1 .4















2 ( )Tan 22.5

1 ( )Tan 22.5
2

( )( )Tan 45 1

.5










1 2







Sin


8

2 















Cos


4

2

2
.6








2 ( )Cos 22.5

2
1









( )Cos 45

2

2

.7






























Tan

5 
36







Tan


36

1






Tan

5 
36







Tan


36



















Tan



6

3

3
.8


















Cos

19 

60









Cos



15









Sin

19 

60









Sin



15



















Cos



4

2

2

.9










( )Tan 40 ( )Tan 10

1 ( )Tan 40 ( )Tan 10








( )Tan 30

3

3
.10








2 ( )Sin 15 ( )Cos 15









( )Sin 30

1

2
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.1








( )Cos 

5

3
.2








( )Sin  

2 14

9

.3








( )Tan 

2 5

5
.4








( )Sin    

2 14 5

27

10

27

.5








( )Cos   

5 5

27

4 14

27
.6








( )Tan    

18 5

11

10 14

11

.7








( )Sin 2  

20 14

81
.8 ( )( )Tan 2  4 5
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.1








( )Cos  

2 2

3
.2








( )Sin  

39

8

.3








( )Tan 

39

5
.4








( )Sin   

2 39

12

5

24

.5








( )Cos   

5 2

12

39

24
.6








( )Tan    

128 2

161

45 39

161

.7






( )Cos 2 

7

9
.8








( )Tan 2  

5 39

7
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 TrigonometryExercise4 Answers for No.11466
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.1








( )Sin 75 

2

4

2 3

4
.2


















Cos



12


2

4

2 3

4

.3 ( )( )Tan 105  2 3 .4








( )Sin ( )-165  

2

4

2 3

4

.5














Tan 


12

 2 3 .6 ( )( )Csc ( )-195  2 3 2

.7


















Cot 

19 

12
2 3 .8



















Sec 

5 

12
2 3 2
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






















.1








2 ( )Cos 15

2
1









( )Cos 30

3

2
.2














Cos

13 
30







Cos


15







Sin

13 
30







Sin


15















Cos


2

0

.3








( )Sin 57 ( )Cos 12 ( )Cos 57 ( )Sin 12









( )Sin 45

2

2
.4


















Cos


8

2






Sin


8

2 















Cos


4

2

2

.5








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2

2
.6


















Cos

7 

18









Cos



18









Sin

7 

18









Sin



18



















Cos



3

1

2

.7










1 2







Sin


12

2 















Cos


6

3

2
.8










( )Tan 42 ( )Tan 12

1 ( )Tan 42 ( )Tan 12








( )Tan 30

3

3

.9













2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3

3
.10








( )Sin 25 ( )Cos 35 ( )Cos 25 ( )Sin 35









( )Sin 60

3

2
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.1








( )Cos 

3

2
.2








( )Sin  

35

6

.3 ( )( )Tan  35 .4








( )Sin    

3 35

12

1

12

.5








( )Cos    

3

12

35

12
.6








( )Tan    

9 3

8

35

8

.7






( )Cos 2 

1

2
.8








( )Tan 2  

35
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.1








( )Sin 

7

4
.2








( )Cos 

3

2

.3








( )Tan  

7

3
.4








( )Sin   

7 3

8

3

8

.5








( )Cos    

3 3

8

7

8
.6








( )Tan    

4 3

5

3 7

5

.7








( )Sin 2  

3 7

8
.8 ( )( )Tan 2   3
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 TrigonometryExercise4 Answers for No.11863
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.1


















Cos

5 

12


2 3

4

2

4
.2








( )Sin 15 

2 3

4

2

4

.3














Tan

7 
12

 2 3 .4








( )Sin 285  

2

4

2 3

4

.5














Sec

11 
12

 2 3 2 .6














Tan

17 
12

2 3

.7








( )Cos ( )-345  

2

4

2 3

4
.8


















Csc 

7 

12
 2 3 2
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.1






( )Sin 40 ( )Cos 10 ( )Cos 40 ( )Sin 10







( )Sin 30

1

2
.2






























Tan


15







Tan


10

1








Tan



15









Tan



10

















Tan


6

3

3

.3






























Tan

7 
18







Tan


18

1








Tan

7 

18









Tan



18















Tan


3

3 .4








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3

2

.5

























2






Tan


12

1






Tan


12

2















Tan


6







Tan


6

.6








( )Sin 50 ( )Cos 10 ( )Cos 50 ( )Sin 10









( )Sin 60

3

2

.7








( )Cos 55 ( )Cos 10 ( )Sin 55 ( )Sin 10









( )Cos 45

2

2
.8








1 2 ( )Sin 22.5

2 







( )Cos 45

2

2

.9








2







Sin


8







Cos


8

















Sin


4

2

2
.10










2







Cos


12

2

1
















Cos


6

3

2
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.1






( )Sin 

3

5
.2








( )Cos  

55

8

.3








( )Tan 

3 55

55
.4








( )Sin    

3 55

40

3

10

.5








( )Cos    

55

10

9

40
.6








( )Tan   

768

799

75 55

799

.7






( )Sin 2 

24

25
.8








( )Tan 2 

3 55

23
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.1








( )Sin 

21

5
.2








( )Cos 

3

2

.3








( )Tan  

3

3
.4








( )Sin   

1

5

21 3

10

.5








( )Cos    

3

5

21

10
.6








( )Tan    

8 7 3

9

25 3

9

.7








( )Sin 2  

3

2
.8








( )Tan 2 

4 21

17
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, ,  Ans5 ( )( )Cos 36 ( )( )Sqrt 0.6545 0.809    
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, ,  Ans6 ( )( )Sin 22 ( )( )Sqrt 0.1405 0.375    
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 TrigonometryExercise4 Answers for No.11967

, ,  Ans1
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

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




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















.1
















Sin

7 
12


2

4

2 3

4
.2








( )Cos 15 

2

4

2 3

4

.3 ( )( )Tan 75 2 3 .4 ( )( )Cot 165  2 3

.5


















Sec 

7 

12
 2 3 2 .6



















Tan 

23 

12
2 3

.7 ( )( )Csc ( )-165   2 3 2 .8








( )Cos 345 

2

4

2 3

4
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, ,  Ans2


















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





































.1








1 2 ( )Sin 15

2 







( )Cos 30

3

2
.2










( )Tan 40 ( )Tan 10

1 ( )Tan 40 ( )Tan 10








( )Tan 30

3

3

.3








2







Cos


12

2

1
















Cos


6

3

2
.4 ( )( )Cos 80 ( )Cos 10 ( )Sin 80 ( )Sin 10 ( )( )Cos 90 0

.5














Sin


15







Cos


10







Cos


15







Sin


10















Sin


6

1

2
.6








( )Sin 80 ( )Cos 20 ( )Cos 80 ( )Sin 20









( )Sin 60

3

2

.7
































Tan

7 

36









Tan



18

1






Tan

7 
36







Tan


18















Tan


4

1 .8
























2









Tan



12

1






Tan


12

2















Tan


6







Tan


6

.9


















Cos


8

2






Sin


8

2 















Cos


4

2

2
.10








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2

2
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








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

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



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








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

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


.1








( )Sin 

39

8
.2








( )Cos 

55

8

.3








( )Tan 

39

5
.4








( )Sin   

39 55

64

15

64

.5








( )Cos   

5 55

64

3 39

64
.6








( )Tan   

5 39

16

3 55

16

.7








( )Sin 2 

5 39

32
.8








( )Tan 2  

3 55

23
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.1








( )Sin  

5

3
.2








( )Cos  

55

8

.3








( )Tan 

5

2
.4








( )Sin    

1

4

5 55

24

.5








( )Cos   

55

12

5

8
.6








( )Tan   

128 5

175

27 11 5

175

.7








( )Sin 2  

3 55

32
.8 ( )( )Tan 2  4 5
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, ,  Ans5 ( )( )Cos 20 ( )( )Sqrt 0.8830 0.940    
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, ,  Ans6 ( )( )Sin 43 ( )( )Sqrt 0.4650 0.682    
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 TrigonometryExercise4 Answers for No.13031

, ,  Ans1
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.1
















Sin


12


2 3

4

2

4
.2








( )Cos 105 

2

4

2 3

4

.3 ( )( )Tan 75 2 3 .4 ( )( )Sec 195  2 3 2

.5


















Csc

11 

12
2 3 2 .6










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
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







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
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 TrigonometryExercise4 Answers for No.13093
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( )Cos 2 

7

25
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 TrigonometryExercise4 Answers for No.13163
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







Tan

7 
12

 2 3 .4 ( )( )Cot ( )-255   2 3

.5


















Sec 

13 

12
 2 3 2 .6 ( )( )Csc 195  2 3 2

.7


















Cos

19 

12


2 3

4

2

4
.8


















Sin

11 

12


2 3

4

2

4

   

















































:)

:(
M
a
t
h
@
M
U
T
:)

:(

, ,  Ans2























































.1


















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
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
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.1








( )Sin 

11

6
.2








( )Cos 

2 2

3

.3








( )Tan  

2

4
.4








( )Sin    

5

18

11 2

9

.5








( )Cos   

5 2

9

11

18
.6








( )Tan   

5 11

21

8 2

21

.7








( )Sin 2  

4 2

9
.8








( )Tan 2 

5 11
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.1








( )Sin 

39

8
.2








( )Cos  

33

7

.3








( )Tan  

39

5
.4








( )Sin    

39 33

56

5

14

.5








( )Cos   

5 33

56

39

14
.6








( )Tan   

256 3 11

201

245 3 13

201

.7






( )Cos 2 

-7

32
.8








( )Tan 2 

8 33

17
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 TrigonometryExercise4 Answers for No.13403
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
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



.1








( )Sin 75 

2

4

2 3

4
.2


















Cos



12


2

4

2 3

4

.3














Tan

7 
12

 2 3 .4 ( )( )Tan ( )-105  2 3

.5














Csc

17 
12

 2 3 2 .6
















Sin 

19 
12


2

4

2 3

4

.7 ( )( )Sec ( )-75  2 3 2 .8


















Cot 

17 

12
 2 3
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









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.1
































Tan

5 

36









Tan

7 

36

1






Tan

5 
36







Tan

7 
36















Tan


3

3 .2










( )Tan 60 ( )Tan 15

1 ( )Tan 60 ( )Tan 15
( )( )Tan 45 1

.3










2









Cos



8

2

1


















Cos



4

2

2
.4








( )Sin 10 ( )Cos 35 ( )Cos 10 ( )Sin 35









( )Sin 45

2

2

.5








1 2 ( )Sin 22.5

2 







( )Cos 45

2

2
.6


















Cos

5 

9









Cos



18









Sin

5 

9









Sin



18



















Cos



2
0

.7






2







Sin


12







Cos


12















Sin


6

1

2
.8
















Cos


18







Cos


9







Sin


18







Sin


9

















Cos


6

3

2

.9








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3

2
.10















2 ( )Tan 22.5

1 ( )Tan 22.5
2

( )( )Tan 45 1
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.1








( )Cos 

15

4
.2








( )Sin  

5

3

.3








( )Tan 

15

15
.4








( )Sin    

15 5

12

1

6

.5








( )Cos   

15

6

5

12
.6








( )Tan   

9 5 3

55

32 5

55

.7








( )Sin 2  

4 5

9
.8








( )Tan 2 

15

7

     Ans4







































.1








( )Sin 

39

8
.2








( )Cos  

3

2

.3








( )Tan 

3

3
.4








( )Sin   

3 39

16

5

16

.5








( )Cos   

5 3

16

39

16
.6








( )Tan    

5 3 13

9

16 3

9

.7








( )Sin 2 

3

2
.8








( )Tan 2 

5 39

7
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, ,  Ans5 ( )( )Sin 34 ( )( )Sqrt 0.3125 0.559    
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, ,  Ans6 ( )( )Cos 14 ( )( )Sqrt 0.9415 0.970    
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 TrigonometryExercise4 Answers for No.13459
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


























.1








( )Cos 105 

2

4

2 3

4
.2


















Sin



12


2 3

4

2

4

.3


















Tan

5 

12
2 3 .4









( )Cos ( )-105  

2

4

2 3

4

.5














Sec 

13 
12

 2 3 2 .6














Cot

11 
12

 2 3

.7 ( )( )Csc 345  2 3 2 .8


















Tan 

5 

12
 2 3
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















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


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.1










1 2







Sin


8

2 















Cos


4

2

2
.2










( )Tan 40 ( )Tan 20

1 ( )Tan 40 ( )Tan 20
( )( )Tan 60 3

.3








2 ( )Cos 15

2
1









( )Cos 30

3

2
.4










( )Tan 80 ( )Tan 20

1 ( )Tan 80 ( )Tan 20
( )( )Tan 60 3

.5






( )Sin 20 ( )Cos 10 ( )Cos 20 ( )Sin 10







( )Sin 30

1

2
.6


















Cos


12

2






Sin


12

2 















Cos


6

3

2

.7














Sin

7 
30







Cos


15







Cos

7 
30







Sin


15















Sin


6

1

2
.8
















Cos


9







Cos

5 
36







Sin


9







Sin

5 
36

















Cos


4

2

2

.9








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2

2
.10















2 ( )Tan 22.5

1 ( )Tan 22.5
2

( )( )Tan 45 1
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




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.1








( )Sin 

3 5

7
.2






( )Cos 

-4

5

.3








( )Tan 

3 5

2
.4








( )Sin    

12 5

35

6

35

.5








( )Cos    

8

35

9 5

35
.6








( )Tan    

150 5

341

588

341

.7






( )Cos 2 

7

25
.8








( )Tan 2  

12 5

41
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.1








( )Sin  

39

8
.2








( )Cos  

2 6

7

.3








( )Tan  

39

5
.4








( )Sin   

39 6

28

25

56

.5








( )Cos    

5 6

28

5 39

56
.6








( )Tan   

49 3 13

75

128 2 3

75

.7








( )Sin 2  

5 39

32
.8 ( )( )Tan 2  20 6
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, ,  Ans5 ( )( )Cos 25 ( )( )Sqrt 0.8215 0.906    
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, ,  Ans6 ( )( )Sin 43 ( )( )Sqrt 0.4650 0.682    
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 TrigonometryExercise4 Answers for No.13581
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
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.1
















Sin

5 
12


2

4

2 3

4
.2








( )Cos 15 

2

4

2 3

4

.3 ( )( )Tan 105  2 3 .4 ( )( )Sec ( )-345  2 3 2

.5














Csc 

13 
12

2 3 2 .6








( )Sin 195 

2

4

2 3

4

.7
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









Cot

19 
12

 2 3 .8 ( )( )Tan ( )-105  2 3
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.1
























2









Tan



12

1






Tan


12

2















Tan


6







Tan


6

.2










1 2







Sin


8

2 















Cos


4

2

2

.3






( )Sin 40 ( )Cos 10 ( )Cos 40 ( )Sin 10







( )Sin 30

1

2
.4








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3

2

.5






( )Cos 70 ( )Cos 10 ( )Sin 70 ( )Sin 10







( )Cos 60

1

2
.6








2 ( )Cos 22.5

2
1









( )Cos 45

2

2

.7


















Sin



12









Cos

5 

12









Cos



12









Sin

5 

12



















Sin



2
1 .8






























Tan


9







Tan


18

1






Tan


9







Tan


18



















Tan



6

3

3
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








Tan

13 
36



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

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
9
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





Tan

13 
36




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
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
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
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







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
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Tan



4
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


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
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Cos



12














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


Sin



6

1
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.1








( )Cos 

3

2
.2








( )Sin  

65

9

.3








( )Tan 

3

3
.4








( )Sin    

2

9

3 65

18

.5








( )Cos    

2 3

9

65

18
.6








( )Tan    

81 3

17

16 65

17

.7






( )Cos 2 

1

2
.8








( )Tan 2  

8 65
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







( )Cos  

3

2
.2








( )Sin  

15

4

.3 ( )( )Tan   15 .4








( )Sin   

1

8

15 3
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







( )Cos    

3

8

15

8
.6








( )Tan   

5 3

3

4 3

3

.7






( )Cos 2 
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8
.8 ( )( )Tan 2   3
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 TrigonometryExercise4 Answers for No.13668
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.1








( )Sin 105 

2

4

2 3

4
.2
















Cos


12


2

4

2 3

4

.3 ( )( )Tan 75 2 3 .4 ( )( )Cot 345  2 3

.5


















Tan

13 

12
2 3 .6



















Sec 

7 

12
 2 3 2

.7 ( )( )Csc ( )-345  2 3 2 .8












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

Sin 

17 
12
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2

4

2 3
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.1















2 ( )Tan 22.5

1 ( )Tan 22.5
2

( )( )Tan 45 1 .2
















Cos

19 
60







Cos


15







Sin

19 
60







Sin


15

















Cos


4

2

2

.3










( )Tan 20 ( )Tan 10

1 ( )Tan 20 ( )Tan 10








( )Tan 30

3

3
.4








2 ( )Cos 22.5

2
1









( )Cos 45

2

2

.5








( )Cos 35 ( )Cos 10 ( )Sin 35 ( )Sin 10









( )Cos 45

2

2
.6


















Cos


12

2






Sin


12

2 















Cos


6

3

2
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















Sin


15







Cos

4 
15







Cos


15







Sin

4 
15

















Sin


3

3

2
.8






2 ( )Sin 15 ( )Cos 15







( )Sin 30

1

2

.9










1 2







Sin


8

2 















Cos


4

2

2
.10










( )Tan 40 ( )Tan 10

1 ( )Tan 40 ( )Tan 10








( )Tan 30

3

3
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.1








( )Cos 

35

6
.2








( )Sin 

7

4

.3








( )Tan 

35

35
.4








( )Sin    

1

8

35 7

24

.5








( )Cos    

35

8

7

24
.6








( )Tan    

27 7

77

4 5 7

77

.7






( )Cos 2 

17

18
.8 ( )( )Tan 2  3 7
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.1








( )Cos  

21

5
.2






( )Sin 

-4

5

.3








( )Tan 

-4

3
.4








( )Sin    

6

25

4 21

25

.5








( )Cos    

3 21

25

8

25
.6








( )Tan    

12

5

2 21

5

.7






( )Sin 2 

-24

25
.8








( )Tan 2 

4 21
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 TrigonometryExercise4 Answers for No.13716
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.1


















Cos



12


2

4

2 3

4
.2








( )Sin 75 

2

4

2 3

4

.3














Tan

7 
12

 2 3 .4








( )Cos ( )-165   

2

4

2 3

4

.5














Csc

19 
12

 2 3 2 .6








( )Sin 345 

2

4

2 3

4

.7


















Cot 

5 

12
 2 3 .8 ( )( )Sec 165  2 3 2
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.1










2







Cos


8

2

1
















Cos


4

2

2
.2










( )Tan 35 ( )Tan 25

1 ( )Tan 35 ( )Tan 25
( )( )Tan 60 3

.3















2 ( )Tan 22.5

1 ( )Tan 22.5
2

( )( )Tan 45 1 .4








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2

2

.5
















Sin

11 
36







Cos


18







Cos

11 
36







Sin


18

















Sin


4

2

2
.6


















Cos


12

2






Sin


12

2 















Cos


6

3

2

.7


















Sin



15









Cos

11 

60









Cos



15









Sin

11 

60



















Sin



4

2

2
.8






























Tan

7 
30







Tan


15

1






Tan

7 
30







Tan


15



















Tan



6

3

3

.9 ( )( )Cos 100 ( )Cos 10 ( )Sin 100 ( )Sin 10 ( )( )Cos 90 0 .10








1 2 ( )Sin 15

2 







( )Cos 30

3

2
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.1








( )Cos 

3

2
.2








( )Sin  

2 10

7

.3








( )Tan 

2 10

3
.4








( )Sin    

3

14

3 10

7

.5








( )Cos    

3 3

14

10

7
.6








( )Tan    

24 10

13

49 3

13

.7






( )Cos 2 

-31

49
.8 ( )( )Tan 2  3
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.1








( )Sin  

3 5

7
.2








( )Cos  

2 2

3

.3








( )Tan  

3 5

2
.4








( )Sin   

2

21

2 2 5

7

.5








( )Cos    

4 2

21

5

7
.6








( )Tan   

54 5

13

98 2

13

.7








( )Sin 2  

12 5

49
.8








( )Tan 2  

4 2

7
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, ,  Ans5 ( )( )Sin 39 ( )( )Sqrt 0.3960 0.629    
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, ,  Ans6 ( )( )Cos 19 ( )( )Sqrt 0.8940 0.946    
















M
U
T

X [Page = 0028] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:
:
:
:
:
:
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800304-00029XX
 TrigonometryExercise4 Answers for No.13720
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




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







.1








( )Cos 15 

2

4

2 3

4
.2
















Sin

5 
12


2

4

2 3

4

.3 ( )( )Tan 105  2 3 .4 ( )( )Csc ( )-285  2 3 2

.5
















Sin

19 
12

 
2

4

2 3

4
.6














Cot 

17 
12

 2 3

.7 ( )( )Tan 195 2 3 .8














Sec 

5 
12

2 3 2

   

















































:)

:(
M
a
t
h
@
M
U
T
:)

:(

, ,  Ans2































































.1










2









Cos



8

2

1


















Cos



4

2

2
.2








( )Cos 30 ( )Cos 15 ( )Sin 30 ( )Sin 15









( )Cos 45

2

2

.3










( )Tan 50 ( )Tan 20

1 ( )Tan 50 ( )Tan 20








( )Tan 30

3

3
.4






2







Sin


12







Cos


12















Sin


6

1

2

.5






























Tan


9







Tan

2 
9

1








Tan



9









Tan

2 

9















Tan


3

3 .6








1 2 ( )Sin 15

2 







( )Cos 30

3

2

.7








( )Sin 60 ( )Cos 15 ( )Cos 60 ( )Sin 15









( )Sin 45

2

2
.8








( )Cos 22.5

2
( )Sin 22.5

2 







( )Cos 45

2

2

.9














Cos

17 
36







Cos

5 
36







Sin

17 
36







Sin

5 
36















Cos


3

1

2
.10
























2







Tan


12

1








Tan



12

2















Tan


6







Tan


6
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
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.1








( )Sin 

7

4
.2








( )Cos  

55

8

.3








( )Tan 

3 55

55
.4








( )Sin    

55 7

32

9

32

.5








( )Cos    

3 55

32

3 7

32
.6








( )Tan   

55

9

4 7

9

.7






( )Cos 2 

1

8
.8








( )Tan 2 

3 55

23
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.1








( )Cos 

2 6

7
.2








( )Sin 

2 2

3

.3








( )Tan  

5 6

12
.4








( )Sin   

5

21

4 6 2

21

.5








( )Cos    

2 6

21

10 2

21
.6








( )Tan   

49 2

88

45 2 3

88

.7








( )Sin 2  

20 6

49
.8








( )Tan 2 

4 2

7
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, ,  Ans5 ( )( )Cos 28 ( )( )Sqrt 0.7795 0.883    
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, ,  Ans6 ( )( )Sin 7 ( )( )Sqrt 0.0150 0.122    
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 TrigonometryExercise4 Answers for No.14307
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 TrigonometryExercise4 Answers for No.14598
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





Tan



18















Tan


4

1 .2
















Sin

5 
36







Cos


9







Cos

5 
36







Sin


9

















Sin


4

2

2

.3








1 2 ( )Sin 15

2 







( )Cos 30

3

2
.4










( )Tan 40 ( )Tan 20

1 ( )Tan 40 ( )Tan 20
( )( )Tan 60 3

.5








2







Sin


8







Cos


8

















Sin


4

2

2
.6














Sin

5 
9







Cos


18







Cos

5 
9







Sin


18















Sin


2

1

.7
















Cos


12

2






Sin


12

2 















Cos


6

3

2
.8






( )Cos 72 ( )Cos 12 ( )Sin 72 ( )Sin 12







( )Cos 60

1

2

.9















2 ( )Tan 22.5

1 ( )Tan 22.5
2

( )( )Tan 45 1 .10








2 ( )Cos 22.5

2
1









( )Cos 45

2

2
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









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.1








( )Cos 

3

2
.2








( )Sin 

15

4

.3








( )Tan 

3

3
.4








( )Sin   

1

8

15 3

8

.5








( )Cos    

3

8

15

8
.6








( )Tan    

4 3

3

5 3

3

.7








( )Sin 2 

3

2
.8








( )Tan 2 

15

7
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.1








( )Cos  

21

5
.2








( )Sin  

3 5

7

.3








( )Tan  

3 5

2
.4








( )Sin    

4

35

3 21 5

35

.5








( )Cos    

2 21

35

6 5

35
.6








( )Tan   

25 5

16

49 21

48

.7








( )Sin 2  

12 5

49
.8








( )Tan 2 

4 21

17
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, ,  Ans5 ( )( )Sin 21 ( )( )Sqrt 0.1285 0.358    
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 TrigonometryExercise4 Answers for No.14624
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
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.1








( )Sin 105 

2

4

2 3

4
.2
















Cos

5 
12


2 3

4

2

4

.3 ( )( )Tan 15 2 3 .4 ( )( )Cot ( )-285  2 3

.5


















Tan 



12
 2 3 .6 ( )( )Sec 255  2 3 2

.7
















Sin 

17 
12


2

4

2 3

4
.8














Csc

19 
12

 2 3 2
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
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























.1










( )Tan 55 ( )Tan 10

1 ( )Tan 55 ( )Tan 10
( )( )Tan 45 1 .2















Cos

11 
18







Cos


9







Sin

11 
18







Sin


9















Cos


2

0

.3










1 2







Sin


8

2 















Cos


4

2

2
.4








2 ( )Cos 22.5

2
1









( )Cos 45

2

2

.5
























2









Tan



12

1






Tan


12

2















Tan


6







Tan


6

.6








( )Cos 18 ( )Cos 12 ( )Sin 18 ( )Sin 12









( )Cos 30

3

2

.7










( )Tan 33 ( )Tan 12

1 ( )Tan 33 ( )Tan 12
( )( )Tan 45 1 .8

















Sin

5 
36







Cos

7 
36







Cos

5 
36







Sin

7 
36

















Sin


3

3

2

.9


















Cos


12

2






Sin


12

2 















Cos


6
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.1








( )Sin 

2 14

9
.2








( )Cos 

2 2

3

.3








( )Tan 

2 14

5
.4








( )Sin   

4 2 14

27

5

27

.5








( )Cos    

2 14

27

10 2

27
.6








( )Tan    

5 2 7

8

9 2

8

.7








( )Sin 2  

4 2

9
.8








( )Tan 2  

20 14

31

     Ans4







































.1








( )Cos  
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5
.2








( )Sin  

5

3

.3








( )Tan 

5

2
.4



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


( )Sin    

2

15

2 6 5

15

.5








( )Cos   

4 6

15

5

15
.6








( )Tan   

50 5

91

18 6

91

.7


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

( )Cos 2 

23
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.8 ( )( )Tan 2  4 5
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 TrigonometryExercise4 Answers for No.14641
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.1








( )Cos 75 

2 3

4

2

4
.2


















Sin



12


2 3

4

2

4

.3 ( )( )Tan 105  2 3 .4
















Cos

13 
12

 
2

4

2 3

4
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
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17 
12

2 3 2
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2 3 2

   

















































:)

:(
M
a
t
h
@
M
U
T
:)

:(

, ,  Ans2























































.1


















Cos


12

2






Sin


12

2 















Cos


6

3

2
.2













2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3

3

.3








2 ( )Cos 22.5

2
1









( )Cos 45

2

2
.4








( )Cos 20 ( )Cos 25 ( )Sin 20 ( )Sin 25









( )Cos 45

2

2

.5








2







Sin


8







Cos


8

















Sin


4

2

2
.6










( )Tan 5 ( )Tan 25

1 ( )Tan 5 ( )Tan 25








( )Tan 30

3

3

.7








1 2 ( )Sin 15

2 







( )Cos 30

3

2
.8
















Sin

2 
5







Cos


15







Cos

2 
5







Sin


15

















Sin


3

3

2

.9








( )Cos 42 ( )Cos 12 ( )Sin 42 ( )Sin 12









( )Cos 30

3

2
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
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





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


Tan

11 

36









Tan



18

1






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11 
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
18
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

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
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
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
4
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.1








( )Sin 

21

5
.2








( )Cos 

11

6

.3








( )Tan  

5 11

11
.4








( )Sin   

21 11

30

1

3

.5








( )Cos   

11

15

21

6
.6








( )Tan   

125 11

481

72 21

481

.7






( )Cos 2 

-7

18
.8








( )Tan 2  

4 21

17
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





( )Sin 

3

2
.2








( )Cos  

55

8

.3








( )Tan 

3 55

55
.4








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3 55
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3
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
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


( )Cos   

55

16

3 3
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
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


( )Tan   

3 55
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

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
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 TrigonometryExercise4 Answers for No.14681
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

















Sin

5 

12


2

4

2 3

4
.2








( )Cos 15 

2

4

2 3

4

.3


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





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
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7 
12
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









Csc 



12
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
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
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12
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2

4

2 3

4
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







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







2 ( )Cos 15

2
1









( )Cos 30

3

2
.2








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







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2
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


























Tan

5 

36









Tan

7 

36

1






Tan

5 
36



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

Tan

7 
36















Tan


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3 .4




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



1 2







Sin


8

2 















Cos


4

2
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










Tan

13 

36









Tan



9

1






Tan

13 
36







Tan


9















Tan


4

1 .6















2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3

3

.7








( )Cos 40 ( )Cos 10 ( )Sin 40 ( )Sin 10




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


( )Cos 30

3

2
.8

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





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
Sin


15



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

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
10



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

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
15



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

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
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





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
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
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
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12
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
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
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
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

6

3

2
.10 ( )( )Cos 75 ( )Cos 15 ( )Sin 75 ( )Sin 15 ( )( )Cos 90 0
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







( )Sin 

5

3
.2








( )Cos 

2 6

5

.3








( )Tan  

6

12
.4








( )Sin    

2

15

2 6 5

15

.5








( )Cos   

4 6

15

5

15
.6








( )Tan   

50 5

91

18 6
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3

2
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


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


( )Cos  
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15 3
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5 3
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4 3
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 TrigonometryExercise4 Answers for No.14688
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















Cos

7 
12


2

4

2 3

4
.2








( )Sin 75 
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7 

12
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

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
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


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13 

12
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.7
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
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


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4
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.1








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2

2
.2










2







Cos


8

2

1
















Cos


4

2
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.3
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




























Tan

7 
36







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
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1



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



Tan


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













Tan


6

3
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.4








1 2







Sin


12

2 















Cos


6

3

2

.5
















Sin

5 
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





Cos


9







Cos

5 
36







Sin


9

















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
4

2

2
.6








( )Sin 55 ( )Cos 10 ( )Cos 55 ( )Sin 10









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2

2

.7








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2 


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


( )Cos 30

3

2
.8






( )Cos 10 ( )Cos 50 ( )Sin 10 ( )Sin 50







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









Tan

5 

36









Tan



36

1






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.1








( )Sin 

3

2
.2








( )Cos 

5

3

.3 ( )( )Tan  3 .4








( )Sin   

5 3

6

1

3

.5








( )Cos   

5

6

3

3
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


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


( )Tan   

8 5

7

9 3
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.7

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

( )Cos 2 
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9
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
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


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3

2
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


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
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4
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


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1

6

2 3
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2

3
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2
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 TrigonometryExercise4 Answers for No.14703
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
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

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

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.4






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2 ( )Cos 22.5

2
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
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
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( )Cos 45
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
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


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
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
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







Tan

5 
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1






Tan


9







Tan

5 
36















Tan


4

1 .6






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
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


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2
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

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

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





( )Sin 30

1

2
.8










1 2







Sin


8

2 















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
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
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
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
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

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
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3
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

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

( )Sin 

4

5
.2








( )Cos  

2 10
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.3








( )Tan 

4

3
.4






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( )Sin    

8 10
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.5
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
( )Cos    
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
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
( )Tan   
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25 10
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


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


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2

4
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


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2 2 21
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
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
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( )Cos    

4 2
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21
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 TrigonometryExercise4 Answers for No.14714
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.1


















Cos



12


2

4

2 3

4
.2








( )Sin 75 

2

4

2 3
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
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
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
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
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.7 ( )( )Sec 165  2 3 2 .8


















Cot

23 

12
 2 3

   

















































:)

:(
M
a
t
h
@
M
U
T
:)

:(

, ,  Ans2































































.1








2




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


Sin


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



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









Sin



6

1

2
.2








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3

2

.3 ( )( )Cos 80 ( )Cos 10 ( )Sin 80 ( )Sin 10 ( )( )Cos 90 0 .4
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






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
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
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
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




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

Tan
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
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

Tan


15
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
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
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

15








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

8

2
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
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
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

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
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

Sin
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
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
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
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
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
6

1
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.10








2 ( )Cos 22.5

2
1




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
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2
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.1








( )Cos 

2 2

3
.2








( )Sin 

2 6

7

.3








( )Tan 

2

4
.4








( )Sin    

5

21

4 6 2

21

.5








( )Cos    

10 2

21

2 6

21
.6








( )Tan   

49 2

88

45 2 3

88

.7






( )Cos 2 

7

9
.8 ( )( )Tan 2  20 6
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.1








( )Cos 

35

6
.2








( )Sin  

2 10

7

.3








( )Tan 

2 10

3
.4








( )Sin    

35 10

21

1

14

.5








( )Cos    

35

14

10

21
.6








( )Tan    

49 5 7

275

216 2 5

275

.7






( )Cos 2 

-31

49
.8








( )Tan 2  

35

17
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 TrigonometryExercise4 Answers for No.14746
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.1








( )Cos 15 

2

4

2 3

4
.2


















Sin

7 

12


2

4

2 3

4

.3














Tan

5 
12

2 3 .4








( )Sin ( )-15  

2

4

2 3

4

.5














Tan 

13 
12

 2 3 .6














Cot 

23 
12

2 3

.7 ( )( )Csc 285  2 3 2 .8








( )Cos ( )-285  

2 3

4

2
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.1








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2

2
.2






























Tan


15







Tan


10

1








Tan



15









Tan



10

















Tan


6

3

3

.3








( )Sin 25 ( )Cos 35 ( )Cos 25 ( )Sin 35









( )Sin 60

3

2
.4








1 2







Sin


12

2 















Cos


6

3

2

.5










( )Tan 50 ( )Tan 20

1 ( )Tan 50 ( )Tan 20








( )Tan 30

3

3
.6










2







Cos


8

2

1
















Cos


4

2

2

.7








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3

2
.8














Cos

17 
36







Cos

5 
36







Sin

17 
36







Sin

5 
36















Cos


3

1

2

.9


















Cos



9









Cos

5 

36









Sin



9









Sin

5 

36



















Cos



4

2

2
.10
























2







Tan


12

1






Tan


12

2



















Tan



6









Tan


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.1








( )Sin 

33

7
.2








( )Cos 

2 6

7

.3








( )Tan 

33

4
.4








( )Sin    

20

49

2 33 6

49

.5








( )Cos   

8 6

49

5 33

49
.6








( )Tan    

4 3 11

9

10 2 3

9

.7








( )Sin 2 

8 33

49
.8 ( )( )Tan 2  20 6
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



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

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


.1








( )Cos  

3

2
.2








( )Sin  

2 10

7

.3








( )Tan 

2 10

3
.4








( )Sin    

3

14

3 10

7

.5








( )Cos   

3 3

14

10

7
.6








( )Tan    

24 10

13

49 3

13

.7








( )Sin 2  

3

2
.8








( )Tan 2  

12 10

31
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, ,  Ans5 ( )( )Sin 22 ( )( )Sqrt 0.1405 0.375    
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, ,  Ans6 ( )( )Cos 36 ( )( )Sqrt 0.6545 0.809    
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 TrigonometryExercise4 Answers for No.15000
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
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
























.1


















Sin

5 

12


2

4

2 3

4
.2








( )Cos 15 

2

4

2 3

4

.3














Tan

7 
12

 2 3 .4








( )Cos 285 

2 3

4

2

4

.5














Sec 

19 
12

2 3 2 .6 ( )( )Tan ( )-165  2 3

.7


















Cot 

13 

12
 2 3 .8



















Sin 

17 

12


2

4

2 3

4
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
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

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






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



























.1








( )Sin 65 ( )Cos 20 ( )Cos 65 ( )Sin 20









( )Sin 45

2

2
.2














Sin


12







Cos

5 
12







Cos


12







Sin

5 
12















Sin


2

1

.3








2 ( )Cos 15

2
1









( )Cos 30

3

2
.4















2 ( )Tan 22.5

1 ( )Tan 22.5
2

( )( )Tan 45 1

.5
































Tan

11 

60









Tan



15

1






Tan

11 
60







Tan


15















Tan


4

1 .6


















Cos


12

2






Sin


12

2 















Cos


6

3

2

.7










( )Tan 70 ( )Tan 10

1 ( )Tan 70 ( )Tan 10
( )( )Tan 60 3 .8









2







Sin


8







Cos


8

















Sin


4

2

2

.9








1 2 ( )Sin 22.5

2 







( )Cos 45

2

2
.10
















Cos

7 
30







Cos


15







Sin

7 
30







Sin


15

















Cos


6

3

2
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




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
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


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




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
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

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




.1








( )Cos 

21

5
.2








( )Sin 

3

2

.3 ( )( )Tan   3 .4








( )Sin    

21 3

10

1

5

.5








( )Cos    

3

5

21

10
.6








( )Tan    

25 3

9

8 7 3

9

.7








( )Sin 2  

3

2
.8








( )Tan 2 

4 21

17
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.1








( )Sin  

5

3
.2








( )Cos 

21

5

.3








( )Tan  

2 21

21
.4








( )Sin   

4

15

21 5

15

.5








( )Cos    

2 21

15

2 5

15
.6








( )Tan   

25 5

32

9 21

32

.7






( )Cos 2 

17

25
.8 ( )( )Tan 2  4 5
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, ,  Ans5 ( )( )Cos 4 ( )( )Sqrt 0.9950 0.998    
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, ,  Ans6 ( )( )Sin 35 ( )( )Sqrt 0.3290 0.574    
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 TrigonometryExercise4 Answers for No.15012
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 TrigonometryExercise4 Answers for No.15024
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





Cos

17 
30







Sin


15















Sin


2

1

.3














Cos

4 
15







Cos


15







Sin

4 
15







Sin


15















Cos


3

1

2
.4








1 2 ( )Sin 22.5

2 







( )Cos 45

2

2

.5










( )Tan 20 ( )Tan 10

1 ( )Tan 20 ( )Tan 10








( )Tan 30

3

3
.6








( )Cos 55 ( )Cos 10 ( )Sin 55 ( )Sin 10









( )Cos 45

2

2

.7






2







Sin


12







Cos


12















Sin


6

1

2
.8















2 ( )Tan 22.5

1 ( )Tan 22.5
2

( )( )Tan 45 1

.9










2







Cos


8

2

1
















Cos


4

2

2
.10








( )Sin 33 ( )Cos 12 ( )Cos 33 ( )Sin 12









( )Sin 45

2

2

   









































































:)

:(
:)

:(




































































M
a
t
h
@
M
U
T
:)

:(
:)

:(
:)

:(

, , , ,  Ans3







































.1








( )Sin 

55

8
.2








( )Cos 

3

2

.3








( )Tan  

3

3
.4








( )Sin    

3 55

16

3

16

.5








( )Cos   

55

16

3 3

16
.6








( )Tan    

3 55

7

16 3

7

.7






( )Cos 2 

-23

32
.8 ( )( )Tan 2   3
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.1








( )Cos  

5

3
.2






( )Sin 

-3

5

.3






( )Tan 

3

4
.4








( )Sin    

8

15

5

5

.5








( )Cos   

2

5

4 5

15
.6








( )Tan   

27

11

25 5

22

.7






( )Cos 2 

7

25
.8 ( )( )Tan 2  4 5
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 TrigonometryExercise4 Answers for No.15032
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.1








( )Sin 105 

2

4

2 3

4
.2


















Cos

5 

12


2 3

4

2

4

.3 ( )( )Tan 15 2 3 .4 ( )( )Tan ( )-255   2 3

.5














Sec 


12

2 3 2 .6
















Sin 

19 
12


2

4

2 3

4

.7 ( )( )Csc ( )-75   2 3 2 .8 ( )( )Cot 165  2 3
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.1


















Sin



15









Cos



10









Cos



15









Sin



10



















Sin



6

1

2
.2















2 ( )Tan 22.5

1 ( )Tan 22.5
2

( )( )Tan 45 1

.3














Sin

7 
12







Cos


12







Cos

7 
12







Sin


12















Sin


2

1 .4 ( )( )Cos 80 ( )Cos 10 ( )Sin 80 ( )Sin 10 ( )( )Cos 90 0

.5
















Cos


8

2






Sin


8

2 















Cos


4

2

2
.6
































Tan

5 
18







Tan


9

1






Tan

5 
18







Tan


9

















Tan


6

3

3

.7










2







Cos


12

2

1
















Cos


6

3

2
.8






2 ( )Sin 15 ( )Cos 15







( )Sin 30

1

2

.9








1 2 ( )Sin 22.5

2 







( )Cos 45

2

2
.10






( )Cos 80 ( )Cos 20 ( )Sin 80 ( )Sin 20







( )Cos 60

1

2
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